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From the Founder’s Desk

Dear Aspirants,

We would like to humbly thank you for the great response we had from our UPSC CSE books. Our books have
been on the best sellers list for Amazon and Flipkart in the UPSC segment for the past eleven months.

Taking inspiration from the overwhelming positive response of our books, we are taking another leap towards
our mission to democratize quality education for everyone. Study I1Q Publications is delighted to present you with
the first revised edition of our book "14 Years UPSC CSE CSAT PYQs'.

This book was created keeping in mind the concerns and challenges faced by the aspirants while preparing for
the Civil Services Examination. Practicing and understanding previous year questions is the key to crack UPSC CSE
Prelims Exam. But aspirants are often confused as to where to read and revise these PYQs. Above all, absence
of good previous year question revision source and use of unauthorized sources of explanation hinders the
preparation of most of the aspirants.

This book is an honest attempt to tackle these problems and improve students’ knowledge base, saving their
precious time during their preparation and eliminating many academic misunderstandings that they encounter.
Even though the CSAT is a qualifying exam, many aspirants have difficulty reaching the minimum figure (i.e., a
candidate must get at least 33% or 66 out of 200 marks to make it to the Main Examination). Aspirants can make
their journey easier by sincerely solving PYQs.

Special Features of This Book

This book aims to make your preparation focused and relevant based on UPSC’s current trend and pattern,
revision-friendly, and up-to-date.

e |t contains an error-free explanation mapped with the UPSC official answer key.
e It has an authentic, interactive, and detailed explanation of every question.

e It contains Prelims paper-Il Five-year Topic -wise Trend Analysis.

We have taken great care to ensure that the materials are written in a clear and easy-to-understand, so that
students may learn and recall the concepts to their advantage.

Keeping in mind the relevance and valuable time of the student, this book is designed in such a way that it covers
all questions from 2011 to 2024 (except omitted questions).

With all sincerity and humility, the Study 1Q team wishes you the best in your preparation, and we are hopeful
that this book will help you in your journey.

Mohit Jindal, [IT-Bombay
Co-Founder, Study 1Q Education,
Mentoring UPSC CSE Aspirants for past 7 years
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Reading Comprehension

Directions for the following items: Read the following passages
and answer the items that follow the passages. Your answers
to these items should be based on the passages only.

Passage

We often hear about conflicts among different States in India
over river waters. Of the 20 major river systems, 14 are already
water-stressed; 75% of the population lives in water-stressed
regions, a third of whom live in water-scare areas. Climate
change, the demands of rising population and the need for
agriculture to keep pace, and increased rate of urbanization
and industralization will exacerbate water stress. According
to the Constitution of India, water is a State subject and not
that of the Union, except for regulation of inter-State rivers.
Key to ensuring balance between competing demands of
various stakeholders is a basin-based approach to allocate
water amongst constituent regions and States. Allocating
fair share of water to them requires assessments based on
objective criteria, such as specificities of the river basin, size
of dependent population, existing water use and demand,
efficiency of use, projected future use, etc. while ensuring the
environmental needs of the river and aquifers.

1. Which one of the following statements best reflects the
most rational, practical and immediate action required to
ensure fair and equitable allocation of water to different
stakeholders? (CSAT-2023)
(a) A national, pragmatic, legal and policy framework for
water allocation should be made.

(b) All river systems of the country should be linked and
huge aquifers created.

(c) Water channels between regions of water surplus
and regions of water deficit should be created.

(d) To mitigate water crisis, water demand of sectors
such as agriculture and industry should be reduced.

Passage

More than half of Indian women and almost a quarter of
Indian men of working age suffer from anaemia. According to
studies, they are anywhere from 5-15% less productive than
they could be, as a result thereof. India also has the largest
tuberculosis burden in the world, costing 170 million workdays
to the country annually. But what is just as important as lost
productivity now is lost potential in the future. It is becoming
increasingly clear that on many measures of cognitive ability,
malnourished Indian children perform, two or three times
worse than their adequately nourished peers. For an economy
that will be more dependent on highly skilled workers, this
poses a significant challenge. And it is one that really should
be addressed given India’s demographic outlook.

2. Which one the following statements best reflects what is
implied by the passage? (CSAT-2023)
(a) Education system must be strengthened in rural
areas.

(b) Large scale and effective implementation of skill
development programme is the need of the hour.

(c) For economic development, health and nutrition of
only skilled workers needs special attention.

(d) For rapid economic growth as envisaged by us,
attention should be paid to health and nutrition of
the people.

Passage

In India, a majority of farmers are marginal and small, less
educated and possess low adaptive capabilities to climate
change, perhaps because of credit and other constraints. So,
one cannot expect autonomous adaptation to climate change.
Even if it was possible, it would not be sufficient to offset
losses from climate change. To deal with this, adaptation
to climate change is paramount, alongside a fast mitigation
response. Another solution is to have a planned or policy-
driven adaptation, which would require the government
to come up with policy recommendations. Perception is a
necessary pre requisite for adaptation. Whether farmers are
adapting agricultural practices to climate change depends on
whether they perceive it or not. However, this is not always
enough for adaptation. It is important how a farmer perceives
the risks associated with climate change.

3.  Which one of the following statements best reflects
the most logical and rational message conveyed by the
author of the passage? (CSAT-2023)
(a) Adaptation to climate change and mitigation
response are basically the responsibilities of the
government.

(b) Climate change causes a change in government
policies regarding land use patterns in the country.

(c) Risk perceptions of farmers are important for
motivating them for taking adaptation decisions.

(d) Since mitigation is not possible, governments should
come up with policies for quick response to climate
change.

Passage

The emissions humans put into the atmosphere now will
affect the climate in the middle of the century and onwards.
Technological change, meanwhile, could make a future
transition away from fossil fuels cheap or it might not, leaving
the world with a terrible choice between sharply reducing
emissions at huge cost or suffering through the effects of
unabated warming. Businesses that do not hedge against the
threat of uncertain outcomes fail. The world cannot afford
such recklessness on climate change.
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Answer Key: Reading Comprehension

1. (@ 2. (d 3. () 4 () 5 (@ 6 (b)) 7. (b) 8 (b)) 9. (b) 10. (d)
11. () 12. (b) 13. () 14. (b) 15. (d) 16. (a) 17. (a) 18. (d) 19. (a) 20. (a)
21. (d) 22. (a) 23. (b) 24. () 25. (b) 26. (a) 27. (d) 28. (a) 29. (d) 30. (c)
31. (b) 32. (d) 33. (a) 34. (a) 35. (d) 36. (a) 37. (d) 38. () 39. (c) 40. (a)
41. (d) 42. (b) 43. (b) 44. (b) 45. (d) 46. (a) 47. (b) 48. (a) 49. (c) 50. (a)
5. (¢ 52. (¢ 53. () 54. (d) 55 () 56. () 57. () 58. (b) 59. (a) 60. (d)
61. (d) 62. (d) 63. (d 64. (a) 65 (a) 66. () 67. (b) 68. (d) 69. (c) 70. (c)
71. () 72. (d) 73. (b) 74. (b) 75. (d) 76. (b) 77. () 78. (a) 79. (c) 80. (d)
81. (a) 82. (b) 83 (a) 84 () 8. (a) 8. (b) 87. () 88 (d 89. (d 90. (a)
91. (¢) 92. (a) 93. (b) 94. (c) 95. (c) 96. (c) 97. (a) 98. (c) 99. (c) 100. (b)
101. (d) 102. (b) 103. (c) 104. (d) 105. (c) 106. (d) 107. (b) 108. (d) 109. (d) 110. (b)
111. (¢) 112. (b) 113. (b) 114. (a) 115. (a) 116. (c) 117. (a) 118. (d) 119. (c) 120. (c)
121. (d) 122. (d) 123. (b) 124. (b) 125. (b) 126. (a) 127. (d) 128. (c) 129. (d) 130. (b)
131. (a) 132. (a) 133. (¢) 134. (c) 135. (b) 136. (b) 137. (a) 138. (a) 139. (b) 140. (d)
141. (c) 142. (a) 143. (d) 144. (c) 145. (d) 146. (a) 147. (d) 148. (b) 149. (v) 150. (c)
151. (b) 152. (c) 153. (d) 154. (a) 155. (b) 156. (c) 157. (b) 158. (d) 159. (a) 160. (d)
161. (b) 162. (a) 163. (a) 164. (c) 165. (b) 166. (a) 167. (c) 168. (d) 169. (c) 170. (a)
171. (c) 172. (c) 173. (a) 174. (c) 175. (a) 176. (b) 177. (b) 178. (d) 179. (c) 180. (d)
181. (a) 182. (d) 183. (b) 184. (d) 185. (c) 186. (a) 187. (d) 188. (b) 189. (b) 190. (b)
191. (a) 192. (c) 193. (c) 194. (d) 195. (a) 196. (d) 197. (b) 198. (d) 199. (b) 200. (b)
201. (a) 202. (b) 203. (b) 204. (d) 205. (b) 206. (d) 207. (c) 208. (b) 209. (c) 210. (a)
211. (d) 212. (d) 213. (a) 214. (c) 215. (d) 216. (b) 217. (c) 218. (a) 219. (d) 220. (a)
221. (d) 222. (b) 223. (c) 224. (c) 225. (a) 226. (a) 227. (d) 228. (a) 229. (d) 230. (a)
231. (b) 232. (c) 233. (d) 234. (c) 235 (b) 236. (b) 237. (d) 238. (c) 239. (b) 240. (b)
241. (d) 242. (b) 243. (d) 244. (d) 245. (a) 246. (c) 247. (c) 248. (a) 249. (a) 250. (a)
251. (d) 252. (b) 253. (b) 254. (a) 255. (c) 256. (c) 257. (b) 258. (c) 259. (d) 260. (d)
261. (d) 262. (a) 263. (c) 264. (c) 265. (c) 266. (c) 267. (b) 268. (c) 269. (a) 270. (b)
271. () 272. (¢) 273. (d) 274. (b) 275. (b) 276. (d) 277. (a) 278. (d) 279. (b) 280. (b)
281. (b) 282. (c) 283. (b) 284. (d) 285. (c) 286. (d) 287. (c) 288. (a) 289. (c) 290. (d)
291. (c) 292. (b) 293. (b) 294. (c) 295. (d) 296. (d) 297. (b) 298. (c) 299. (b) 300. (c)
301. (c) 302. (d) 303. (b) 304. (a) 305. (b) 306. (b) 307. (b) 308. (c) 309. (b) 310. (d)
311. (b) 312. (¢) 313. (a) 314. (c) 315. (c) 316. (c) 317. (b) 318. (d) 319. (a) 320. (c)
321. (a) 322. (a) 323. (d) 324. (b) 325. (d) 326. (d) 327. (b) 328. (d) 329. (d) 330. (b)
331. (a) 332. () 333. (b) 334. (d) 335. (c) 336. (a) 337. (b) 338. (c) 339. (b) 340. (c)
341. (a) 342. (c) 343. (b) 344. (a) 345. (b) 346. (d) 347. (a) 348. (d) 349. (c) 350. (d)
351. (d) 352. () 353. () 354. (d) 355. (c) 356. (a) 357. (b) 358. (d) 359. (b) 360. (b)
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399. An agricultural field is in the form of a rectangle having 406. AB is a vertical trunk of a huge tree with A being the
length X, meters and breadth X, meters (X, and X, point where the base of trunk touches the ground. Due
are vari.able). It Xl * X% = 40 meters, thgn the area of to a cyclone the trunk has been broken at C which is at
;gﬁoa\:vgi:;uvl;llﬁzls;e'd will not exceed whlch(ggzr_ogotlfs a height of 12 meters; broken part is partially attached
(a) 400 sqm (b) 300 sq m to the vertical portion of the trunk at C. If the end of
(c) 200sqm (d) 80sgm the broken part B touches the ground at D which is at a

400. The sum of the ages of 5 members comprising a family, distance of 5 meters from A, then the original height of
3 years ago was 80 years. The average age of the family the trunk is (CSAT-2016)
today is the same as it was 3 years ago, because of an (@) 20 m (b) 25m
addition of a baby during the intervening period. How (c) 30m (d) 35 m
old is the baby? (CSAT-2016)

(a) 6 months (b) 1 year 407. A person walks 12 km due north, then 15 km due east,
(c) 2vears (d) 2 years and 6 months after that 19 km due west and then 15 km due south.

401. The total emoluments of two persons are the same, but How far is he from the starting point? (CSAT-2016)
one gets allowances to the extent of 65% of his basic pay (@) 5km (b) 9'km
and the other gets allowances to the extent of 80% of his (c) 37 km (d) 61 km
E:::E E:z.;‘hti(raalha?t::it::e basic pay of the fo(rcrr;:;__tzootllzs 408. A cube has all its faces painted with different colours.
(a) 16:13 (b) 5: 4 It is cut into smaller cubes of equal sizes such that the
(c) 7:5 (d) 12:11 side of the small cube is one-fourth the big cube. The

402. A person is standing on the first step from the bottom of RERIRRI) | cubes with only one of the sides painted
a ladder. If he has to climb 4 more steps to reach exactly is: (CSAT-2016)
the middle step, how many steps does the ladder have? (a) 32 (b) 24

(CSAT-2016) (c) 16 (d) 8
(a) 8 (b) 9
(c) 10 (d) 11 409. Ram and Shyam work on a job together for four days and
o .

Direction for the following 3 (three) items: Consider the given complete 6(.)6 of THVRI||2kes leave then an.d shyam

information and Answer the three items that follow. works for eight more days to complete the job. How

When three friends A, B and C met, it was found that each of long would Ram take to complete the entire job alone?

them wore an outer garment of a different colour. In random (CSAT-2016)

order, the garments are: jacket, sweater and tie; and the (a) 6 days (b) 8 days

colours are: blue, white and black. Their surnames in random (c) 10 days (d) 11 days

order are: Ribeiro, Kumar and Singh. Further, we know that:

1. Neither B nor Ribeiro wore a white sweater 410. A military code writes SYSTEM as SYSMET and NEARER as
2. Cwore a tie AENRER. Using the same code, FRACTION can be written
3. Singh’s garment was not white as: (CSAT-2016)
£51. Eubmar ddoes not \/lvcljarajacketh ek col (a) CARFTION (b) FRACNOIT
. Ribeiro does not like to wear the black colour
6. Each of the friends wore only one outer garment of (c) NOITCARF (d) CARFNOIT
only one colour 411. If R and S are different integers both divisible by 5,

403. What is C’s surname? (CSAT-2016) then which of the following is not necessarily true?
(a) Ribeiro (b) Kumar (CSAT-2016)
(c) Singh (d) Cannot be determined (a) R—Sis divisible by 5.

404. What is the colour of the tie? (CSAT-2016) (b) R+ Sis divisible by 10.

(a) Black (b) Blue (c) RxSis divisible by 25.
(c) White (d) Cannot be determined (d) RZ + S2is divisible by 5.

405. Who wore the sweater? (CSAT-2016) 412. How many numbers are there between 100 and 300
(a) A (b) B . which either begin or end with 2? (CSAT-2016)
(c) C (d) Cannot be determined (a) 110 (b) 111

(c) 112 (d) None of these
| Page 150]| For More Study Material, Visit: studyig.com



520.

521.

522,

523.

Then the next price value is = X+20, and the next value
is X+40 and on and on up to 7 values. It is an arithmetic
Progression with sum 700.

X+ X+20 + X+40 +... X+120 =700

Or 7X + (20+40+...+120) = 700

Or 7X + 420 = 700

Or 7X=700-420 =280

Or X = 40. Hence, option (b) is correct.

Answer: (c)

Total no. of person =120

No. of males =70

No. of females = 50

No. of people having driving license = 80

Now, maximum number of males have driving license if
every male have driving license.

Then maximum number of males having driver's license
=70

Now, minimum number of males have driving license if
every female have driving license.

If no. of females have driving license = 50 then no. of
males have driving license = 80 — 50 = 30.

Minimum number of males have driving license = 30
Ratio between the minimum to maximum number of
males having driver's license is 30: 70.

Or 3 to 7. Hence, option (c) is correct.

Answer: (d)

Information given in the question is: Food can feed the
1000 soldiers for 30 days.

Now 1000 soldiers ate for 10 days. Remaining food can
feed 1000 soldiers for 20 days.

But 1000 more soldiers came which means total soldiers
= 2000. Remaining food can feed 2000 soldiers for half
of days.

Hence, remaining food can feed 2000 soldiers for 10 days
(half of 20). Hence, option (d) is correct.

Answer: (d)

Let us suppose capacity of tank = 100 liters

Tank lasts for 10 days implies daily usage of petrol =
100/10 = 10 liters

Now Arun starts using 25% more so new consumption =
10 + 10% of 10 = 12.5 liters

So, no. of days tank will last if daily usage is 12.5 liters =
100 /12.5 = 8 days. Hence, option (d) is correct.

Answer: (a)

Given that time taken by person to walk a certain
distance and come back = 10 hours

Hence, person can walk one side in 5 hours.

Now he can walk a certain distance and drive back in six
hours.

It means he walked one side and drove to come back.
He took 5 hours to walk to that distance Hence, he took
1 hour to drive back from that distance.

If he drives both ways, time taken by him = 1x2 = 2 hours.
Hence, option (a) is correct.

524,

525.

526.

527.

528.

529.

Answer: (b)

Observe the positions of sun in Inner Square: it is rotating
anti clockwise.

Hence, in next figure position of sun will be same as it is
in figure 1.

Now observe the position of triangle: it is following
a zigzag pattern. Very easy to observe the pattern of
triangle.

So, in next figure the triangle will be in bottom left
triangle. Hence, option (b) is correct.

Answer: (c)

Observe the triangle: The triangle is rotating clockwise
by an angle of 120 degrees. So the position of triangle in
next figure will be same as it is in 2" figure.

Observe the arrow inside the triangle: The arrow is
following a pattern of up-down in subsequent figures. In
next figure arrow will be downward. Hence, option (c)
is correct.

Answer: (b)

There are 3 segments in these figures: 2 L and 1 arrow.
Now the pattern followed by each segment in these
figures is:

(i) Moving left

(i) When they reach the extreme left (first position),
they come back again from the 3" position but with an
inverted image.

By this observation we can say that next figure will be the
figure given in option (b). Hence, option (b) is correct.

Answer: (d)

Diagram | is incorrect: when x = 0 (no men to work)
still there is some value of y which imply work is going
without men. Hence, it is wrong.

Diagram Il is incorrect: If x is increased y is also increased.
This means if no. of men are increased then the no. of
working days increased, which is wrong.

Diagram lll is incorrect: Initially the graph is parallel to y
axis which means a fix number of men can do the work
in different number of days which is not possible. Hence,
itis wrong.

Diagram IV is correct: It shows the correct relation as no.
of working days decreasing as no. Of men are increasing.
Hence, option (d) is correct.

Answer: (c)

Hack in this question is: sum of digits of number in 2nd
column is equal to 1st column and 3rd column

As for 1% row: sum of digits of 370=3+7+0=10=3+7
For 2" row: sum of digits of 224=2+2+4=8=2+6
Hence, in 3™ row: sum of digits of 730=7 +3 +0=10
So, sum of 1%t and 3" column must be 10 so the number
in the place of ‘?”=10—1=9. Hence, option (c) is correct.

Answer: (a)
Hiring rate of car = 6rs / km
Cost of diesel = 40rs /km

| Page 250|
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From the Founder’s Desk

Dear Aspirants,

We would like to humbly thank you for the great response we had from our UPSC CSE books. Our books have
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Taking inspiration from the overwhelming positive response of our books, we are taking another leap towards
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This book was created keeping in mind the concerns and challenges faced by the aspirants while preparing for
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e It contains an error-free explanation mapped with the UPSC official answer key.

e It has an authentic, interactive, and detailed explanation of every statement.

e It contains UPSC CSE 7-year subject-wise Trend Analysis.
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e For a better understanding of aspirants’ subjects are further divided into topics.

e We have taken great care to ensure that the materials are written in a clear and easy-to-understand,
so that students may learn and recall the concepts to their advantage.

Keeping in mind the relevance and valuable time of the student, this book is designed in such a way that it
covers all questions from 2013 to 2024 (except omitted questions) and only important and relevant questions
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With all sincerity and humility, the Study IQ team wishes you the best in your preparation, and we are hopeful
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Basics of Constitution

Consider the following statements in respect of the

Constitution Day:

Statement-I: The Constitution Day is celebrated on 26th

November every year to promote constitutional values

among citizens.

Statement-II: On 26th November, 1949, the Constituent

Assembly of India set up a Drafting Committee under the

Chairmanship of Dr. B. R. Ambedkar to prepare a Draft

Constitution of India.

Which one of the following is correct in respect of the
(2023)

are correct

above statements?
(a) Both Statement-I
and Statement-ll is the correct explanation for

and Statement-I|

Statement-|
(b) Both Statement-I
and Statement-ll is not the correct explanation for

and Statement-Il are correct
Statement-|

(c) Statement-lis correct but Statement-Il is incorrect

(d) Statement-l is incorrect but Statement-Il is correct

Consider the following statements:

Statement-I: The Supreme Court of India has held in

some judgements that the reservation policies made

under Article 16(4) of the Constitution of India would be

limited by Article 335 for maintenance of efficiency of

administration.

Statement-Il: Article 335 of the Constitution of India

defines the term ‘efficiency of administration’.

Which one of the following is correct in respect of the
(2023)

and Statement-Il are correct

above statements?

(a) Both Statement-I
and Statement-ll is the correct explanation for
Statement-|

(b) Both Statement-I
and Statement-ll is not the correct explanation for

and Statement-Il are correct
Statement-|

(c) Statement-lis correct but Statement-Il is incorrect

(d) Statement-l is incorrect but Statement-Il is correct

In India, which one of the following Constitutional
Amendments was widely believed to be enacted to
overcome the judicial interpretations of the Fundamental
Rights? (2023)
(a) 1st Amendment (b) 42nd Amendment
(c) 44th Amendment (d) 86th Amendment

10.

Which one of the following statements best reflects the

Chief purpose of the ‘Constitution’ of a country?

(a) It determines the objective for the making of
necessary laws.

(b) It enables the creation of political offices and a
government.

(c) It defines and limits the powers of government.

(d) It secures social justice, social equality and social
security. (2023)

In essence, what does ‘Due Process of Law’ mean?
(2023)

(a) The principle of natural justice

(b) The procedure established by law

(c) Fair application of law

(d) Equality before law

‘Right to Privacy’ is protected under which Article of the
Constitution of India? (2021)
(a) Article 15
(c) Article 21

(b) Article 19
(d) Article 29

A legislation that confers on the executive or
administrative authority an unguided and uncontrolled
discretionary power in the matter of the application of
law violates which one of the following Articles of the
Constitution of India? (2021)
(a) Article 14
(c) Article 32

(b) Article 28
(d) Article 44

Which one of the following in Indian polity is an essential
feature that indicates that it is federal in character?
(2021)

(a) The independence of judiciary is safeguarded.

(b) The Union Legislature has elected representatives
from constituent units.

(c) The Union Cabinet can have elected representatives
from regional parties.

(d) The Fundamental Rights enforceable by Courts of
Law.

What is the position of the Right to Property in India?
(2021)

a) Legal right available to citizens only

b) Legal right available to any person

¢) Fundamental Right available to citizens only

d) Neither Fundamental Right nor legal right

e e

What was the exact constitutional status of India on 26th
January, 1950? (2021)
(a) A Democratic Republic

(b) A Sovereign Democratic Republic

(c) A Sovereign Secular Democratic Republic Secular

(d) A Sovereign Socialist Democratic Republic

| Page 2|
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Answer Key: Basics of Constitution

1. (€ 2. () 3 (ab) 4 () 5 () 6 () 7. (a 8 (a 9 (b) 10. (b)
11. (a) 12. (d) 13. (b) 14. (d) 15. (d) 16. (d) 17. (b) 18 (d) 19. (a) 20. (d)
21. (d) 22. (d) 23. (d) 24. (a) 25 (b) 26. (a) 27. (c) 28. (c) 29. (b) 30. (c
3. (a) 32. (b) 33. () 34. (d) 35 (d) 36. (b) 37. (a) 38 (a) 39. () 40. ()
41. (a) 42. (d) 43. (d) 44. (b) 45 () 46. (d) 47. (b) 48. (b) 49. (b) 50. (c)
5. (d) 52. (b) 53. () 54. (c) 55 (b) 56. (a) 57. (d) 58. (b) 59. (b) 60. (b)
6. (c) 62. (b) 63. (c) 64. (c) 65 (d) 66. (a) 67. (a) 68. (a) 69. (a) 70. (d)
71. (@) 72. (a 73. (d) 74. () 75 (d) 76. (d) 77. (d) 78 (b) 79. (d) 80. (a)
81. (d) 82 () 8. (d) 84 (b) 8. (a) 8. (d) 87. (d) 88 (a) 89. (d) 90. (c)
91. (d)
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Solutions: Initial Phase National Movements

Correct Answer: (a)

Statement 1 is correct: Sakharam Ganesh Deuskar
was a Marathi Brahmin and a close associate of
Aurobindo Ghosh. He published a book entitled
‘Desher Katha’describing in exhaustive detail the British
commercial and industrial exploitation of India.He
warned against the colonial state’s “hypnotic capture
of the mind” in his work Desher Katha.

Statement 2 is correct: This book seems to have had an
enormous influence on the young men of Bengal and
turned many of them into revolutionaries and prepared
them for the Swadeshi movement.This book had
immense repercussions in Bengal, captured the mind of
young Bengal and assisted more than anything else in
the preparation of the Swadeshi movement and inspired
the performance of swadeshi street plays and folk songs
Statement 3 is incorrect: Desher Katha gave an
overwhelming detail of the sordid story of foreign
exploration leading to India’s economic servitude and
was not just in the specific context of Bengal.
Sakharam Ganesh Deuskar was the first to bring in
the name of Swaraj, and Sri Aurobindo was the first to
endow it with its English equivalent, ‘Independence.’
The Nationalists adopted this word, and Swaraj became
the chief item of the fourfold Nationalist or Pan-India
programme.

Correct Answer: (a)

Option (a) is correct: The Vital-Vidhvansak, (Destroyer
of Brahmanical or Ceremonial Pollution) the first
monthly journal to have the untouchable people as
its target audience was published by G.B. Walangkar.
He was the first to fight for the rights of the Mahars in
Maharashtra.He retired from military service in 1886
and mobilized people and made them conscious about
their human rights.He highlighted the grievances of the
people through his writings in two Marathi newspapers,
Dinbandhu and Sudharak, in which he argued that
casteism and untouchability had no religious base and
were creations of the Hindus. To prove his theory he
wrote a booklet titled “Vital Vidhvansak”.

Correct Answer: (b)

Option (b) is correct: Rakhmabai was one of the first

Indian women to practice medicine in colonial India. The

Right of consent is attributed to Rukhmabai refusing to

recognise her marriage and the case filed by her husband

thereafter.

¢ Rukhmabai refused to move in with her husband
stating that a woman cannot be compelled to stay in
wedlock when she is not interested and her husband
Bhikaji sought “restitution of conjugal rights”.

e The Dadaji vs. Rukhmabai case that went on for
three years triggered a debate in both England and
India. The verdict went in favour of Dadaji. The court
ordered Rukhmabai to live with her husband or face
six months imprisonment. Rukhmabai said she was
willing to opt for the latter.

* The verdict was subsequently overruled by Queen
Victoria. This prompted the government to bring the
Age of Consent Act, of 1891, despite opposition from
conservative Indians and restitution of conjugal
rights, which allows a spouse to move the court to
compel the other spouse to cohabit or face forfeiture
of any property.

Correct Answer: (b)

Option (b) is correct: India lacked basic industries such
as steel, metallurgy, machine, chemical, and oil and also
lagged behind in the development of electric power.
The invention of synthetic dye gave a big blow to the
indigo industry and it gradually declined. The industries
were almost exclusively European in ownership and
Indigo was used as a dye in textile manufacture. Indigo
manufacture was introduced in India at the end of the
18th century and flourished in Bengal and Bihar. Indigo
planters gained notoriety for their oppression over the
peasants who were compelled by them to cultivate
indigo. This oppression was vividly portrayed by the
famous Bengali writer Dinbandhu Mitra in his play Neel
Darpan in 1860.

Correct Answer: (d)

Option (d) is correct: In 1800, Wellesley, the governor-
general from 1798-1805 set up the Fort William College
for the training of civil servants of the Company in the
languages and customs of Indians (closed in 1802).
Governor General Wellesley was an expansionist. In
order to accomplish this, he pursued a policy of conquest
and annexation of Indian states. To expand British
territory, he adopted a new expansion policy known as
Subsidiary Alliance.

Correct Answer: (d)

Option (d) is correct: The Mundas in the region south of

Ranchi rose under Birsa Munda. The Ulgulan was one of

the most significant tribal uprisings in the period 1860-

1920.

e The Ulgulan uprising(1899-1900) was supported
by Birsa Munda against the introduction of feudal,
zamindari tenures and exploitation by moneylenders
and forest contractors.

e The Ulgulan (‘Great Tumult’), as this movement was
called, aimed at getting independence establishing a
Munda Raj,
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Answer Key: External Sector

. (d 2. () 3. () 4 () 5 () 6 (d 7 (d 8 (@ 9 (b 10 (a)
11. () 12. () 13. (b) 14. (d) 15. (a) 16. (d) 17. (c) 18. (a) 19. (a) 20. (a)
21. () 22. (d) 23. (b) 24. (d) 25. (b) 26. () 27. () 28 () 29. (c) 30. (a)
31. (b) 32. (b) 33. (b) 34. (d) 35 (d 36. (b) 37. (b) 38 () 39. (d) 40. (a)
41. (b) 42. (b) 43. (a) 44. (a) 45 (a)
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